e bo Mounting Variants
m Mounting Set _ |M6Screw Set m
(+]

4x § Mex20mm 4x g M6 x 30 mm \\v
4 x E M6 x40 mm 4 x E M6 x50 mm

4x = M6 Flat Washer
4 x M6 x 60 mm

4XxX = M6 Spring Washer

M 8 Screw Set

VESA Mounting Kit

For: TCBarS|TC Bar M

8 x 3 M 8 x 15 mm 4 x M 8 x 55 mm
—— OR

Quick Guide Kort vejledning v
Kurzanleitung Pikaohje 4 x ? M 8 x 25 mm
Guide de démarrage rapide  ZUVTOPEG 06nyleg
Guida rapida Kisa Kilavuz
Instrucciones resumidas IRIRIERS 4x ? M 836 mm 4x M8 x 65 mm
Instrucdes resumidas IRER(EFATER
Beknopte gebruiksaanwijzing Z1voHAR E

4 x M 8 x 45 mm

S i i E
Krotka |n.strukCJa obstugi Rcl: .‘?_fLH)\‘I 2x 1Xx§ M5x8mm
Snabbguide e JuJd

4 X = M8 x8mm Spacer 12x < M 8Flat Washer

SENNHEISER 4x &P 8 x M 8 x 10 mm Spacer 12x = M8 Spring Washer

8 x M 8 x 20 mm Spacer

/;ﬁ M 8 x15 mm

5] M 8 Spring Washer
, M 8 Flat Washer

Online Manual

www.sennheiser.com/download

|

|

Sennheiser electronic SE & Co. KG

Am Labor 1, 30900 Wedemark, Germany
www.sennheiser.com

Publ. 06/25, 592895/A02

x [

\




M6x20-60mm <OR» M8x25-65mm

__— M 6 Spring Washer 4« OR»> M 8 Spring Washer

| M6 Flat washer =~ <OR»> M 8Flat Washer

M 8 x 8 mm Spacer

<4OR»>

< M6x20-60mm <ORM> M8x25-65mm
\ M 6 Spring Washer < OR» M 8 Spring Washer
@% M 6 Flat Washer < OR»> M 8 Flat Washer

M8 x15 mm

= M 8 Spring Washer
M 8 Flat Wash

‘ \— M 8 x 8 mm Spacer \—MaxIOmmSpacer




